A & 0l & A

20158 =34 2 3| JIEtSEH & ™ (&)
2Ok 22 - IBAY - SRAAH (S H) Ol &k o J &3 oA HwE2 =28
5 Al 83,505, 189 80,753,727 2,751,462 3.41%
ALY 68,778,996 62,866,830 5,912,166 9.40%
HWegs 14,630,995 17,796,593 A 3,165,598 AT .79%
HE2HZH 95,198 90,304 4,894 5.42%
g}FES 19,413,261 17,751,261 1,662,000 9.36%
ot - =2 14,501,933 14,551,985 A 50,052 A 0.34%
FEINHEEYH 29 73,500 74,000 A 500 A0.68%
=HNLSESH 2S(=RNLSEAH) 73,500 74,000 2500 AN 0.68%
Not=SE3 A2 2,164,036 2,167,096 3,060 A0.14%
Not=S3 2L (Xot=SL3) 2,164,036 2,167,096 A 3,060 N0.14%
Hess(2aZ M) 12,042,397 12,088,889 N46,492 A0.38%
UWERHHXES(=EHESE3A) 12,042,397 12,088,889 N46,492 A 0.38%
Heas(6h+=m) 222,000 222,000 0 0.00%
HEAHHX & (XSS 3 H) 222,000 222,000 0 0.00%
HOI2 4,911,328 3,199,276 1,712,062 53.51%
HIOISHM2AANEMNSSEIIAH 2 4,911,328 85,170 4,826,158 5666.50%
HIOISEM2AEMLESSH 22 (HIISHM 4,911,328 85,170 4,826,158 5666.50%
ANEASES3)
Heass(E3amn) 0 3,114,106 A3,114,106 =2
HWEHH XIS (HIIS M AISALSES ) 0 3,114,106 A3,114,106 =2
tal =Xl 4,221,717 4,301,399 AT9,682 A 1.85%
=dged 116,598 116,598 0 0.00%
Heags(uegerdit) 116,598 116,598 0 0.00%
BHEXNE(YES0HISETLESESA) 116,598 116,598 0 0.00%
FAHSXE 4,105,119 4,184,801 AT9,682 A1.90%
2slIsxdSEsH &9 4,105,119 4,184,801 AT9,682 2 1.90%
AEZNHIISELEELINH 2L (Y=220I12 4,105,119 4,184,801 AT9,682 A 1.90%
THEE3A)
S2us 50,633, 122 50,747,775 A 114,653 AN0.23%
SANEE 50,633, 122 50,747,775 A 114,653 20.23%
SANEEAMY SE3H 2 50,633, 122 50,747,775 A 114,653 AN0.23%
SANEBEMNY SE3H 2SS (SAECMLEE 50,633, 122 50,747,775 A 114,653 N0.23%
313)

=EYXANLY 9,141,891 7,862,988 1,278,903 16.26%
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